11 by 11 Kakuro Addition Puzzles

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of
each vertical block the number on top. Each digit can only be used once per
block!

6 13 10 9 13 29 12
9 9 15
4 19 17 1
31 8
10 3
11 13
13 28 3 6
24 5
15
6 6 16
8 10 20
18 8 5
7 10
7 22
16 8 5
13 13
8 11 7 9
5 34
11 6 14 5 4 1
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Answers

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of
each vertical block the number on top. Each digit can only be used once per
block!

6 13 10 9 13 29 12
U514 6121609
1191512437853

Sl 81351411 3
214167 5 21401
AR NEER RPN R N,
1675 ST 23

s 2 3142815

Wl 311145385505
32511167 3 48
Usie | N 7125 131
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